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Question Number : 1 Question Id : 64635011254 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is a social characteristic of a learner?

(1) Power of sensory perception (2) Thinking ability
(3) Power of synthetic imagination (4) Ability to relate oneself with others
Options:

E4E350442959. 1
64535044200, 2



E4E35044201. 3
64535044202, 4

Question Number : 1 Question Id : 64635011254 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E4E350442959. 1
64535044200, 2
64535044201, 3
64535044302, 4

Question Number : 2 Question Id : 64635011255 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which i1s the characteristic of formative evaluation?

(1) Evaluation occurs at the terminal point
(2) Evaluation 1s used before programme design
(3) Evaluation relates to indicating learning outecome of teaching
(4) Evaluation is conducted during teaching
Options:
64535044303, 1
64535044304, 2
E4E35044205. 3
E4E35044206. 4

Question Number : 2 Question Id : 64635011255 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044202, 1

64535044204 2

64535044305, 3

64535044306, 4

Question Number : 3 Question Id : 64635011256 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Cone of Experience’ related to teaching-learning was suggested by
(1) John Dewey (2) Kilpatrick
(3) Froebel {4) Edgar Dale



Options:

64535044307, 1
48350443208, 2
4535044209 2
64535044210, 4

Question Number : 3 Question Id : 64635011256 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4535044207. 1
64535044208, 2
64535044209, 3
64535044310, 4

Question Number : 4 Question Id : 64635011257 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The field of study which uses role playing, simulation and self-evaluation as strategies for
adult learners is known as

(1) Pedagogy (2) Andragogy
(3) Anthropology {4) Psychology
Options:

E4E35044211. 1
E4E35044212. 2
64535044213, 3
645350442314, 4

Question Number : 4 Question Id : 64635011257 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535044311, 1
64535044312 2
E4E35044213. 3
E4E35044214. 4

Question Number : 5 Question Id : 64635011258 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the following is a non-cognitive characteristic of learner?

(1) Recalling {2) Problem solving

(3) Identifying important sensory nputs (4) Believing what is true

Options:
64535044515 1

E4E35044216. 2
E4E35044217. 3
645350442158, 4

Question Number : 5 Question Id : 64635011258 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350442151
64535044216, 2
64535044317, 3
E4E35044215. 4

Question Number : 6 Question Id : 64635011259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following research formats focusses on hypothesis testing and generalisations?

(1) Experimental and ex-post facto research
i(2) Intervention based action research
(3) Phenomenalogical and narrative research

(4) Case study research

Options:

4835044219, 1
45350443220 2
64535044321, 5
64535044322 4

Question Number : 6 Question Id : 64635011259 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
54635044319, 1
CAsZE044320. 2
4525044321 2
45250442322 4

Question Number : 7 Question Id : 64635011260 Question Type: MCQ Option Shuffling : No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Which of the following action sets best represent an action research cvele?

(1) Reflect, act, plan and observe (2) Plan, act, observe and reflect
(3) Observe, plan, reflect and act {4) Act, plan, observe and reflect
Options:

64535044323 1
64535044324, 2
64535044325 3
EAE35044326. 4

Question Number : 7 Question Id : 64635011260 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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: No Display Question Number :

(1)  T=a, Teai=ta, It 3 g (2) Ft=F, AT, s =

(3)  FFAFA, T, F=am A0 Tt (4) Terari=ta, Tr=F, F== AT =E

Options:

64535044323, 1
64835044324 2
64535044225, 5
64535044326, 4

Question Number : 8 Question Id : 64635011261 Question Type: MCQ Option Shuffling
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is the main feature of qualitative research?

] Avolds positivist assumptions and data analysis
(2) Subscribes to pre-existing categories
(3) Collects data in numerical form

(4) Uses empirical method of data analysis

Options:
645350442327, 1
64535044328, 2

: No Display Question Number :
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E4E350442329. 3
64535044230, 4

Question Number : 8 Question Id : 64635011261 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635044327, 1

64635044328, 2

64635044329, 3

£4835044330. 4

Question Number : 9 Question Id : 64635011262 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A good review of research literature aims at
] Subjective analysis of the content
(2) Provides information about the authors and thewr affilhations
(3) GGenerates research questions and validating those gquestions
(4) Conducts multiple task based screening

Options:

645350443311

G4AE350443222 2

64535044333, 3

645350443354 4

Question Number : 9 Question Id : 64635011262 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535044231, 1
45350443232 2
64535044232 5
64535044334 4

Question Number : 10 Question Id : 64635011263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A researcher fails to reject the null hypothesis (Ho) in his/her research. What implications
will it carry for his/her principal research hypothesis?

(1) Accepting the research hypothesis
(2) Rejecting the research hypothesis

(3) Not talang any decision on the research hypothesis
(4) Improving the research hypothesis

Options:

645350443351

64535044336 2

G4E35044227 2

64535044338, 4

Question Number : 10 Question Id : 64635011263 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535044335, 1
54635044336, 2
64535044227, 5
64535044228, 4

Sub-Section Number : 2
Sub-Section I1d: 646350531
Question Shuffling Allowed : Yes

Question Id : 64635011264 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11 to 15)
Cesticn Label | Comprehension



Read the following passage and answer guestions:

There 15 a common thread running through the unravelling of India’s statistical
system. A modern economy with sound institutions is characterised by timely dissemination
of credible data. A long term policy needs an empirical basis and issues of veracity of data
will influence investment decisions. In a country with a large population of vouth, data on
national development, especially in core sectors like agriculture, industry, health, education
and employment, will be critical Here comes the role of National Statistical Commission, a
body created to establish standards. Questioning the data veracity is a global phenomenon.
The official narrative is always guestioned by the people on the other side of the fence.
Dissemination of economic data is essential to reach out to the public who lived their reality.
Lack of data will adversely impact the quality of national policies. India must start
strengthening institutions such as the central statistical eommission. These Institutions
must be granted autonomy and insulated from external interferences. Enhanced operational
autonomy will make their work credible. An indicator of operational autonomy is their
ability to stick to a dissemination calendar regardless of what the data indicates.

Sub questions

Question Number : 11 Question Id : 64635011265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What is important for a modern economy?

(1) A common thread

(2) Dissemination of credible data
(3) Unravelling of statistical svstem
(4) Selective distribution of data
Options:

64635044339 1

64535044540, 2

64635044341, 3

64535044342 4

Question Number : 12 Question Id : 64635011266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Investment decisions are impacted by

(1) Youth population (2) National development
(3) Issues of data veracity {4) Establishment of national institutions
Options:

64535044342 1
64535044344 2
E4E35044245, 3
E4E35044246. 4

Question Number : 13 Question Id : 64635011267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the work of National Statistical Commission?

(1) Establishing standards (2) Questioning data veracity
(3) GQuestioning official narrative {4) Supporting the public perception
Options:

E4E35044347. 1



E4535044248. 2
64535044245, 3
645350442350, 4

Question Number : 14 Question Id : 64635011268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How can the gquality of national policies be improved?

(1) By living reality
(2) By supporting external interferences
(3) By controlling autonomous institutions
(4) By enhanced operational freedom
Options:
E4525044251. 1
E4535044352 2
64535044353 3
64635044354 4

Question Number : 15 Question Id : 64635011269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What does the passage ultimately suggest to National Statistical Commission?

(1) Restricting policy decisions
(2) Critically examining data veraecity
(3) Stick to a calendar of data dissemination

{4) Support development in core sectors
Options:

64535044355, 1

64535044356 2

64535044357 3

64535044358 4

Question Id : 64635011264 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label @ Comprehension
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Sub questions

Question Number : 11 Question Id : 64635011265 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
I+ FRTmT + T #7071 7 27
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Options:

648350443239 1
E4E350443240 2
64535044241, 5
645350442472 4

Question Number : 12 Question Id : 64635011266 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(1) I e (2) WA fa=ry
(3)  Hiwsl =+ HoAal + Hag, (4) TS HETAT I TTE
Options:

64535044243 1
64535044344, 2
64535044345 3
E4E3504434E. 4

Question Number : 13 Question Id : 64635011267 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E4E35044247. 1
E4E35044248. 2
64535044245, 3
64535044350, 4

Question Number : 14 Question Id : 64635011268 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1)  =HE TR T F9 F0H

(2) =TI TEAETT 1 T T
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(4)  ATHF TFATHF WAl J5H FH|
Options:
46350443511
64535044352, 2

E45350442353. 3
E45350442354. 4

Question Number : 15 Question Id : 64635011269 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
40235044255 1
64635044356, 2
64635044357 3
64535044355 4

Sub-Section Number: 3
Sub-Section 1d: 646350532
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635011270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Assertion {(A) : The correlation function of mass media is vital for any society.

Reasons (R) : The mterpretational aspects that include advertising and public relations
shape and influence public opinion.

Choose the correct answer from the codes given below :

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) 1s not the correct explanation of (A)
(3) {A) is true, but (R) is false

(4) (A) is false, but (R) is true

Options:
45250442559 1

E4E35044260. 2
E4535044261. 3
64535044362, 4

Question Number : 16 Question Id : 64635011270 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835044359 1
4535044260, 2
64535044261, o
64535044362, 4

Question Number : 17 Question Id : 64635011271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Some of the barriers to effective communication are

i(a) Polysemy

{b) Simple language

(c) Use of Cliche’s

(d}) Easy construction of sentences

Choose the correct answer from the codes given below :

(1)  (a)and (b) (2) (b) and (¢)
(3)  (c) and (d) (4) (a)and (¢)



Options:

64535044363, 1
4835044364 2
45350443265 2
64535044366, 4

Question Number : 17 Question Id : 64635011271 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a) X (b) (2) () W (c)
(3) ()3T (d) (4) (a) N (o)
Options:

64535044363, 1
64535044364, 2
E4E35044365. 3
EAE35044366. 4

Question Number : 18 Question Id : 64635011272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a classroom, use of communication technology pre-supposes

(1) Inattentive audience
(2) Luxurious amblence
{3) Extrapolation of contents
(4) New forms of expression and applications
Options:
E4E25044287. 1
EAE25044368. 2
E4535044369. 3
64535044370 4

Question Number : 18 Question Id : 64635011272 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

4835044367, 1
64535044265, 2
64535044369, o
64535044370 4

Question Number : 19 Question Id : 64635011273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a classroom, content produced for a specific user will lead to

(1) personality development (2) content filtering
(3) personalisation {4) general academic integration
Options:

E4E35044271. 1
64535044372 2
64535044373, 3
64535044374, 4

Question Number : 19 Question Id : 64635011273 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
w41 4 TR fafime warea = fau a6 7 fawasg =1 giomy g
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(3) T (4) T S T
Options:

64535044371, 1
EAE35044372. 2
E4E350442373. 3
64535044374, 4

Question Number : 20 Question Id : 64635011274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The sequential order of elements in classroom communication is

(1) knowledge, interest, evaluation, awareness
(2) awareness, interest, evaluation, knowledge
(3) evaluation, awareness, knowledge, interest

(4) interest, knowledge, evaluation, awareness

Options:



E4E350442375. 1
64535044376, 2
64535044377, 3
64535044375, 4

Question Number : 20 Question Id : 64635011274 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(4) 4, TH, TEATEA, TIEED
Options:
64535044375, 1
6435044376, 2
64535044277, 5
64535044375, 4

Question Number : 21 Question Id : 64635011275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Choose the missing term out of the following :
JAK, KBL, LCM, MDN,

(1) OEP (2) NEO
(3) MEN (4) PFQ
Options:

645350443751
64535044280, 2
64535044381, 3
E4E35044382. 4

Question Number : 21 Question Id : 64635011275 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FtatEd § 5 Jega T
JAK, KBL, LCM, MDN,

(1)  OEP (2) NEO
(3) MEN (4) PEQ
Options:

645350443739, 1
64535044380, 2
64535044381, 3
EAE350442382. 4



Question Number : 22 Question Id : 64635011276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the numhber 34axy is divisible by 90, then (x + 1) =7

(1) g (2) 8
) I (4) 6
Options:

E4E350442383. 1
E4535044284. 2
64535044285, 3
64535044356, 4

Question Number : 22 Question Id : 64635011276 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Ife & 346¢y 90U =2 %, A (x+ y) =7

i1y B (2) 8
(3) 7 4) 6
Options:

E4E350442383. 1
E4535044284. 2
64535044285, 3
64535044356, 4

Question Number : 23 Question Id : 64635011277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
On a map, 1inch represents 250 miles. What is the actual distance between two cities if they

are 4% inches apart on the map?

(1) 1100 miles (2) 1125 miles
(3) 1150 miles (4) 1200 miles
Options:

64535044387, 1
64535044388, 2
E4E35044289. 3
E4E35044230. 4

Question Number : 23 Question Id : 64635011277 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Foefl AT T 1 % 250 T T O B A T A WA T F A=A G 4Z TR

ST Wi o ATl g T

(1) 1100 = (2) 1125w
(3) 1150 (4) 12007
Options:

645350442357, 1
64535044388, 2
64535044359, 3
E4E35044230. 4

Question Number : 24 Question Id : 64635011278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If 60% of (a—b)=40% of (a+b), then what percent of @ is b?

(1) 20% (2) 25%
(3) 40% (4) 50%
Options:

645350442591, 1
64535044332, 2
64535044333, 3
E4E350442354. 4

Question Number : 24 Question Id : 64635011278 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e (a—b) F 60%=40% = (a+b) &, d a 1 b T Hia=d gm ?

(1) 20% {2) 25%
(3) 40% (4) 50%
Options:

64535044391, 1
64535044332, 2
E4E350443593. 3
E4E35044294. 4

Question Number : 25 Question Id : 64635011279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
What will be the ratio of simple interest earned by certain amount at the same rate of
mterest for 8 years and that for 12 years?

(1) 3:4 2y 23
(3) 4:3 (4) Data inadeqguate
Options:

64535044355 1



E4E35044396. 2
645350442357, 3
645350442395, 4

Question Number : 25 Question Id : 64635011279 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FRET 0T8T 70 9 99 #1279 =k TofU U JHTE =471 &1 ° ATeid HrgTo s47] I FI97d F47 i 7

() a4 (%5 23
(3) 4:3 (4) FATHE AT 3
Options:

645350443395, 1
64535044336, 2
E4E35044397. 3
E4E350442395. 4

Question Number : 26 Question Id : 64635011280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘All Judges are fairminded’ is an example of proposition.

(1) Universal affirmative (2) TUniversal negative

(3) Particular affirmative (4) Particular negative
Options:

E4E35044295. 1
E4535044400. 2
64535044401, 3
64535044402, 4

Question Number : 26 Question Id : 64635011280 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘gt =TT vy g o T FEE B

(1) ==y b8y (2) T Ty

(3) AtaTee e (4) Tafime Frg
Options:

E4535044299. 1
64535044400, 2
64535044401, 3
64535044402, 4

Question Number : 27 Question Id : 64635011281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following arguments ‘the relation that exists between premises and
conclusion is that of logical necessity™?

(1) Inductive (2) Deductive
(3) Demonstrative (4) Analogical
Options:

E4E35044403. 1
E4535044404. 2
64535044405, 3
64535044406, 4

Question Number : 27 Question Id : 64635011281 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
fetatiad oA Tieaai § “aaR 999 A1 ke & 9§19 5 994 g ¢ 9% alled A-Erddr 1 g 8

(1)  FFEATES (2) A=
()  TEEAEE (4) HIETIAF
Options:

E4E35044403. 1
E4535044404. 2
E4535044405. 3
64535044406, 4

Question Number : 28 Question Id : 64635011282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Six friends A, B, C, D, E and F are sitting in a closed circle facing the centre. E is to the left
of D. Cis between A and B. F is between E and A. Who is to the right of C?

(1) A (2) B
(3 D (4 E
Options:

64535044407, 1
64535044408, 2
64535044409, 3
E4E35044410. 4

Question Number : 28 Question Id : 64635011282 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FEAA B,C.D,EAN FUag a0 § &z ol AL 4@ gU A2 E, D H ardff A3 C, A dR =+
fFHF 2 FEFNAFTIHE 2 CF gl AL FAR?

1) A (2) B
(3 D (4) E
Options:

64535044407, 1
E4E35044408. 2



E4535044403. 3
64535044410, 4

Question Number : 29 Question Id : 64635011283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Inference (anumana) in Indian Logic is rooted in

(1) variable relation between minor term and major term

(2) mmvariable relation between middle term and minor term

(3) variable concomitance between middle term and major term

(4) mvariable concomitance between middle term and major term
Options:

E4535044411. 1
E4E3504441%2. 2
E4535044413. 3
64535044414, 4

Question Number : 29 Question Id : 64635011283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
AT FohEE § A 1 0d 7

(1) T 9% AN 0T 75 = &9 TiEd 99y
(2) TRl T8 I e & #g ATEG a9
(3) WISl U5 A EA UL o "= TiE) dgaidd
(4) TG Tg AN 0BT TE S A9Ed St
Options:
646350444111
64635044412 2

64535044413, 3
64535044414, 4

Question Number : 30 Question Id : 64635011284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A B C D, EandF are six members in a family in which there are two married couples.
E, a teacher is married to the doctor who 1s the mother of C and F. B, the layer 15 married to
A A has one son and one grandson. Of the two married ladies one 1s a housewife. There 15
also one student and one male engineer in the family. How is A related to C?

(1) Grandfather {2) DMlother
(3) Sister (4) Grandmother
Options:

E4535044415 1
64535044416, 2
64535044417, 3
64535044415 4



Question Number : 30 Question Id : 64635011284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

% TER § A, B, C, D, E 3 F =: 9257 £ fomd & 3t femfeg <0t #1 E = o fonges 2, =71 fomme
SHAHEM A CANFARA MU BA AR F A AT g2 AF F T AN 3 2| &
feaTrEa ATgenaT O | U U1 7| TN 5 U i o T S S o 21 A CH 347 599 7 ¢

(1) &g (2) =@
(3 T (4) =T
Options:

E4535044415. 1
E4535044416. 2
64535044417, 3
64535044415, 4

Sub-Section Number: 4
Sub-Section 1d: 646350533
Question Shuffling Allowed : Yes

Question Id : 64635011285 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Cuestion Label @ Comprehension

Consider the following table that shows the distribution of students in two sections Aand Bin a
school aceording to the marks obtained by them. There 15 a total of 45 students in each of the
sections A and B. Answer the guestions based on the data contained in the table :

Marks obtained by students

Marks MNumber of students in
in class interval Section — A Section — B

[0-9] 2 4

[10 — 19] 5] 3]

[20 - 29] 10 g

[30 — 39] 4 4

[40 — 49] 8 7

[0 - 59] 4 5

[60 — 69] T 5

[T0 — 79] 5] 5

Sub questions

Question Number : 31 Question Id : 64635011286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
If the pass mark 15 30, what 15 the number of failures in both the sections together?

(1) 43 2y 35
(3) 16 4) 26
Options:

E4E35044413. 1
E4E35044420. 2
64535044421, 3
64535044422, 4



Question Number : 32 Question Id : 64635011287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If the pass mark i1s 40, approximately what is the percentage of successful students mn
Section — B?

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

E4E35044423. 1
E4E35044424 2
64535044425 3
64535044426, 4

Question Number : 33 Question Id : 64635011288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

How many students in Section — A and Seection — B together have obtained marks less
than 107

(1) 10 (2 11
(3) 12 4 6
Options:

64535044427 1
64535044425, 2
64535044429 3
E4E35044430. 4

Question Number : 34 Question Id : 64635011289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How many students in Section — A have obtained 30 or more marks but less than 507

(1) 12 (2) 14
(3) 10 4y 13
Options:

64535044431, 1
64535044432, 2
E4E35044433. 3
E4E35044434. 4

Question Number : 35 Question Id : 64635011290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

How many students in Section — A and Section — B have obtained 50 or more than 50 marks?

(1) 23 (2) 43
(3) 32 (4) 34
Options:

E4E35044435. 1



E4E35044436. 2
64535044437, 3
64535044435, 4

Question Id : 64635011285 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

fepAferfire arfers =1 fermfelat =1 Wrea #(=! & FER fa=rea § 2 #a A A B H faanfeii % faam =
297 3| el H9EH A A B 0 F 45 Tl 8| arfersn § fEu T sl % angn w weEi 1 39 den)

Ty TR s EEE
T fgv. A S B

[0 - 9] 2 4
[10 - 19] 5 5
[20-29] 10 9
[30 - 39] 4 4
[40 — 49] 8 7
[50 — 59] 4 5
[60 — 69] 7 5
[70 - 79] 5 6

Sub questions

Question Number : 31 Question Id : 64635011286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T, FAOF 30 B, T S WAl § Ao fernfea i w5 we e 20

(1) 43 (2) 35
(3) 16 (4) 26
Options:

E45350444139. 1
64535044420, 2
64535044421, 3
64535044427 4

Question Number : 32 Question Id : 64635011287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ITe, IHTF 40 3 HFEH B O IH9 B TTel il s 9iase o TR 77

(1) 48% (2) 51%
(3) 0% 4y 47%
Options:

64535044423 1
64535044424 2
64535044425 3
E453504442E. 4



Question Number : 33 Question Id : 64635011288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
O - A 31 O9F - B 24 o T faenferai 3 10 9 =59 &= 3 TRt

(1) 10 (2) 11
(3) 12 4) 6
Options:

64535044427 1
64535044425, 2
E4E35044423. 3
E4E35044430. 4

Question Number : 34 Question Id : 64635011289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o7 - A H TR fer=nielai = 30 71 Wit 1= g 50 & 9 o+ Wied U 37

(1) 12 (2) 14
(3) 10 4y 13
Options:

E4E35044421. 1
E4E35044432. 2
64535044433, 3
64535044434, 4

Question Number : 35 Question Id : 64635011290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
O9FH - A 31T 9999 - B O Tood Toafelat 9 50 77 50 ° 19 37 Wred TeFu?

(1) 23 (2) 43
(3) 32 4) 34
Options:

64535044435 1
E4E35044436. 2
E4E35044437. 3
64535044435, 4

Sub-Section Number: 5
Sub-Section Id: 646350534
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635011291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



While sending an e-mail, to differentiate among To : , Ce: and Bee : fields, which one of the
following statements is True?

(1) Recipients in the To : field can see the email addresses that are in the Bee : and Ce:

fields

(2) Recipients in the Ce : field can see the email addresses that are in the To - and Bee:
fields

(3) Recipients in the Bee : field can see the email addresses that are in the To : and Ce:
fields

i4) Only the recipients in the Ce : field can see the other email addresses in the Bee : field

Options:

64535044439, 1
64535044440, 2
64535044441 =
64535044442 4

Question Number : 36 Question Id : 64635011291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U S 0o 99d 509 To -, Ce : 31T Bee : Fivel § 19498 %3 & 9949 O (iaraiiad 5= § ® HE-97 951
27

(1) To:ﬁﬁﬁmﬁee:ﬁﬂe:fﬁﬁﬁﬁﬁ@mﬁﬂﬁﬂﬁiﬁmgl
(2) Cec : %ies § Wreawdl To : 3 Bee : Fiesl d Ta=m= Ha 741 =1 <@ 954 &
(3) Bee - Fieg § Wtashal To : 31T Ce - Fiesi § =@ 309 791 1 <@ T4 7
(4) Cec : e § S Wtasdl Bee : %lesl § A3 20 T4l 1 4@ Td 2|
Options:

E45350444359 1

64535044440 2

64635044441 =

E4B35044442 4

Question Number : 37 Question Id : 64635011292 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A group’s access to digital technology and ancther group’s lack of access to it, will cause a
disparity known as

(1) Internet inequality (2) Web inequality
(3) Technological imbalance {4) Digital divide
Options:

64535044443 1
64535044444 =
64535044445 3
E4E3504444E, 4

Question Number : 37 Question Id : 64635011292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



U HHE I TEfsee Wi i Sremad A gEt g i e Agestd | S fauwdar s g 5
71 =l 2

(1) ST FEAT (2) F= FEEHA
(3) iR aEaed (4) Tefaea faar=m
Options:

64535044443 1
64535044444 =
64535044445 3
E4E3504444E, 4

Question Number : 38 Question Id : 64635011293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In internet terminology, what does the acronym WYSIWYG stand for?

(1) Why You Saw Is What You Got (2) What You See Is What You Get
(3) Where You See Is Where You Got (4) What You See Is What You Got
Options:

64535044447 1

64635044445 2

64835044449 =

E4E525044450 4

Question Number : 38 Question Id : 64635011293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T TICATTo TReraet | T 6 WYSIWYG %1 3=f gran 37

(1) ==L A T e LM (2) =eLH WmELR
(3) TEAL L A LM (4) =L H WEEZ L
Options:

E4535044447. 1
64535044445, 2
64535044449 3
64535044450, 4

Question Number : 39 Question Id : 64635011294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Software that vou can download for free, but have to pay to continue its use after a trial
period 1= called

(1) public domain software (2) freeware
(3) open-source software {4) shareware
Options:

E4535044451. 1
E4E35044452. 2



E4535044453. 3
64535044454, 4

Question Number : 39 Question Id : 64635011294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
HivearT, f A9 F3les eredie 1 Hd 3, g gra9 =iy = 9=, 36 W S T % T
ATTH FTAH F T8 7, TIH Fa44 3

(1)  TEaF SHA FFeEIL (2) WA
(3)  AH-HE TiFET (4) IEEE
Options:

64535044451, 1
64535044452 2
E4E35044453. 3
E4535044454. 4

Question Number : 40 Question Id : 64635011295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following computer components 1s fastest in terms of speed of access?

(1) USE Drive (2) Solid State Drive
i AT ard Ihsk Drive

3) RAW (4) Hard Disk Dn
Options:

E4E35044455. 1
E4535044456. 2
64535044457, 3
64535044455, 4

Question Number : 40 Question Id : 64635011295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
et et Hazhl o | FH-31 5= I T = 3 H HgeE ga gt

(1) L uHH g (2) Hifas T2 IrA
(3) W (IMuW) (4) = fomr gr=
Options:

E4535044455. 1
64535044456, 2
64535044457, 3
64535044455, 4

Question Number : 41 Question Id : 64635011296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



One of the main outcomes of the Rio +20 conference was to develop a set of

(1) Sustainable Development Goals (2) Millennium Development Goals
(3) National Development Strategy (4) National Land Restoration Strategy
Options:

E4535044459. 1
64535044480, 2
64535044451, 3
64535044482, 4

Question Number : 41 Question Id : 64635011296 Question Type: MCQ Option Shuffling

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

frafl +20 HH@A 1 TF T0 T T 90=a9 1 5 &6 97

(1)  TEE fFwm 98 (2) TEETE: fawrg @
(3)  TSEF TRy T (4) T g T T
Options:

64535044459, 1
64535044480, 2
E4E350444E61. 3
EAE35044462, 4

: No Display Question Number : Yes

Question Number : 42 Question Id : 64635011297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The time frame for the implementation of Millennium Development Goals was,

(1) 2000 — 20035 (2) 2000 -2015
(3) 2005 — 2010 (4) 2000 -2012
Options:

64535044463, 1
EdE3s044464, 2
E4E350444E65. 3
64535044456, 4

Question Number : 42 Question Id : 64635011297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

AEHIES FHHE TE o+ FA = I -HE R

(1) 2000 — 2005 (2) 2000 - 2015
(3) 2005 — 2010 (4) 2010 - 2020
Options:

64535044463, 1
64535044464, 2
64535044465, 3
E4E350444EE. 4



Question Number : 43 Question Id : 64635011298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The duration for which of the usable compost generation is 3—6 months?

(1) Vermi composting (2} Semi-Automatic waste converter
(3) Pit composting (4) Automatic waste converter
Options:

64535044467, 1
64535044468, 2
64535044459, 3
E4E35044470. 4

Question Number : 43 Question Id : 64635011298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FeratEa 5 8 o 3TEmmarg e, e = a9y 3-6 918 = 5 B

(1) = e (2) HAF-TTNAd 998 FUEdF
(3) e $onieen (4) TE=ErAd 94 GUiEd®
Options:

64535044467, 1
64535044468, 2
E4E350444E8. 3
E4E35044470. 4

Question Number : 44 Question Id : 64635011299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Oligotrophic lakes are characterized by

(1) High level of nutrients (2) Low level of nutrients
(3) Absence of nutrients (4) High level of organic matter
Options:

64535044471, 1
64535044472 2
E4E35044473. 3
EAE350444 74, 4

Question Number : 44 Question Id : 64635011299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(1) 9= # I T (2) TEH F 7 o1
(3) g F AYE (4) e TEET 1 3= T
Options:

645350444711
64535044472 2
E4E35044473. 3



E4E35044474. 4

Question Number : 45 Question Id : 64635011300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

With increase in temperature, the dissolved oxygen content in a water body

(1) decreases
(2) increases
(3) remsain constant

(4) may increase or decrease depending on the temperature range

Options:

64535044475, 1
64535044476, 2
4835044477 2
4535044475 4

Question Number : 45 Question Id : 64635011300 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AT | g * 9= 79 g ° et Aifaeeq 19

(1) =z
(2) H@ed
(3) TERTETE

(4)  AIHE TIE F ATHE g2 I g 2
Options:
64635044475, 1
64635044478, 2
64635044477, 3
64635044478, 4

Question Number : 46 Question Id : 64635011301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The econstitution of India provides right to establish educational institutions of their choice
by all minorities as per

(1) Article 30(1) (2)  Article 29
(3) Article 33 (4)  Article 16(2)
Options:

645350444739, 1
64535044450, 2
E4E35044451. 3
EAE35044452. 4

Question Number : 46 Question Id : 64635011301 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



O 1 TS AT9E=TH g 7 748 5 o 9= =g 7 o AT 5 39 A 2

(1) 3= 30(1) (2) T 29
(3)  Ig=e 33 (4) IF=T 16(2)
Options:

E4535044473. 1
64535044480, 2
64535044451, 3
64535044452, 4

Question Number : 47 Question Id : 64635011302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
SWAYAM refers to
(1) Study World of Action-Learning for Young Aspiring Minds
(2) Study Webs of Active-Learning for Young Aspiring Minds
(3) Student World of Action-Learning for Young Ailing Minds
(4) Study Webs of Active-Learning for Youth Awareness hModels

Options:

4525044455 1

64535044454 2

64535044455 =

646350444586 4

Question Number : 47 Question Id : 64635011302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WA AR T (F) F I T
(1) T2 T8 ATF UFEH-AT B 17 T ATEEd
(2)  TZE 959 ATF U -1 FIL 47 TEITITET AT5-5H
(3)  TZErZ dve ATH UFEH-AI- FIL T TRl HT358
(4)  TZE =A=H AR UFed-H- HIL I8 AT HI5-5H
Options:
64835044483 1
64535044454 2

E4E35044455. 3
E4E35044456. 4

Question Number : 48 Question Id : 64635011303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following is an educational FM radio network?

(1) Gyan Darshan {2) Gyan Vani
i3} Gyan Dhara (4} GIAN
Options:

E4E35044457. 1
64535044458, 2



E4E35044453. 3
64535044430, 4

Question Number : 48 Question Id : 64635011303 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fr=tafaa 8 2 F3-1 Sy 16 w e 2=+ 27

(1) FHAZIA (2) T =TI
(3) FHEW (4) St AT
Options:

64535044457, 1
64535044458, 2
E4E35044459. 3
E4535044430. 4

Question Number : 49 Question Id : 64635011304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following reports addressed the academiec, technical and administrative
problems of the examination system?

(1) Report on standards of the Educational System (1965)
(2) Report of University Education Commission (1948-49)
(3) Sargent Report (1944)
(4) Hartog Committee report (1929)

Options:

E4E825044491. 1

E4525044492 2

E45350444595 =

645350444594 4

Question Number : 49 Question Id : 64635011304 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Tt TEa Sidaedt O ® Tora Tiran yomedt =ht Stgiies, a-rd 1 Wemai- Gaeal = g fwan ?

(1) T 14 Tr28d A% & THd 952 (1965)
(2)  TOOrE ATE IS THTH FHEE (1948-49)
(3)  Hraiee fOre (1944)
(4)  Frem Fd o (1929)
Options:
64635044491, 1
64635044492, 2

E45350444353. 3
EAE350444594, 4

Question Number : 50 Question Id : 64635011305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

During which wvear the present syvstem of affiliation of colleges to the Universities was
imtroduced in India?

(1) 1857 (2) 1948
(3) 1928 (4) 1966
Options:

E4535044455. 1
64535044456, 2
64535044457, 3
64535044435, 4

Question Number : 50 Question Id : 64635011305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T | metterarerd i favafaaradl § gwEga i 990 v a9 e g

(1) 1857 (2) 1848
(3) 1928 (4) 1966
Options:

64535044455 1
64535044436, 2
64535044437, 3
E4E35044435. 4

PART II Prakrit

Section Id : 646350302

Section Number : 2

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 96

Number of Questionsto be attempted: 96

Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section |d: 646350535
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 64635011306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Generally Magadhi Prakrnt belongs to this age of the development of
Prakrit languages.

(1) First age
(2) Modem age
(3) Second age
(4) Third age

Options:

64535044499, 1
64535044500, 2
64535044501, =
64535044502, 4

Question Number : 51 Question Id : 64635011306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T TTFA BT A Aet & fqewm % 5w g § grafea 2
(1) 5em 7m

(2) ey gn
(3) wWem 7m

(4) =

Options:

64535044499, 1
64535044500, 2
64535044501, =
64835044502, 4

Question Number : 52 Question Id : 64635011307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct pair.
(1) Apabhramsa —  Second age Prakrit
(2) Niya-Prakrit ~  Third age Prakrit
(3) Prakrit-dhammapada —  First age Prakrit
(4) Ardhamagadhi —~  Modem age Prakrit

Options:
4525044502 1

E4E35044504. 2
64535044505, 3
64535044506, 4



Question Number : 52 Question Id : 64635011307 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tl SIS T |

(1) smyw -  Ted I WA
(2) Frr e - i i wa
(3) IHd gHIG —  ¥em FfH Ak
(4) erdmmTER ~  gf T TR
Options:

64535044502, 1
E4E35044504. 2
64535044505, 3
64535044506, 4

Question Number : 53 Question Id : 64635011308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Read the Unit I and Unit II for correct mateh :

I I1
(a) Niya Prakrit (i) Second age Prakrit
(b) Mulacara (ii) Third age Prakrit
(c) Apabhramsa (iii) First age Prakrit

(d) Inscriptional Prakrit (iv) Modern age Prakrit
Select the correct option from the following :

Code :
(1) (e) + (Gv)
2) (b) + (i)

3) (@) + (i)
@ (@ + @

Options:

64535044507 1
64535044508, 2
64535044509, o
64535044510, 4

Question Number : 53 Question Id : 64635011308 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



wat e & o 39ms 1 oM 3o 1101 fee |

I 1|
(a) f@ wea () fedta i rpd
(b) AT (i) gt gt Tepa
(c) eTas (iii) o I ST
(d) i wa (iv) g i JFa
ot fawed § @ 78 faswew 9T |
he :
1) (@ + Gv)
2) ®) + @)

(3) (a) + (i)
4) @ + @)

Options:
64535044507 1

E4E35044508. 2
E4535044508. 3
64535044510, 4

Question Number : 54 Question Id : 64635011309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The ‘Dohas’ quoted in the 4th pada of the Prakrit Vyakarana by
Hemacandra belong to the language

(1) Maharasmi
(2) Apabhramsa
(3) Sauraseni

(4) Ardhamagadhi

Options:

64535044511, 1
64535044512 2
64835044512 =2
64535044514, 4

Question Number : 54 Question Id : 64635011309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



g a JThd AT & =3 91E H 39 AT 6 &l 3594 {60 T F |
(1) wEnrsdd

(2) @Oy
(3) s
(4) semme
Options:

64535044511, 1
64535044512 2
64535044513, 3
E4E35044514. 4

Question Number : 55 Question Id : 64635011310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The direct origin of Modem Aryan languages is
(1) Magadhi
(2) Pali
(3) Maharasti
(4) Apabhramsa

Options:

64535044515, 1
64535044516, 2
64835044517 2
64535044513, 4

Question Number : 55 Question Id : 64635011310 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
syfeh SISt S e YR W 7R 9T 2

(1) wmeft
(2) wfa

(3) TENrSd:
(4) e9us

Options:

64535044515, 1
64835044516 2
4535044517 2
64535044513, 4



Question Number : 56 Question Id : 64635011311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The language of the Uttaradhyayana belongs to

(1) First age
(2) Second age
(3) Modermn age
(4) Third age

Options:

64535044519, 1
64535044520 2
64535044521 =2
E4E35044522 4

Question Number : 56 Question Id : 64635011311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e 6 T 39 g R
(1) v\ gm
(2) wemgn
(3) sngfre
(4) gd=gm

Options:

64535044519, 1
64835044520 2
E4E35044521. =2
64535044522, 4

Question Number : 57 Question Id : 64635011312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Prakrteti sakalajagajjantuinam vyakaranadibhiranahita-samskarah’
This portion of the sentence belongs to
(1) Hemachandra

(2) Vararuci
(3) Namisadhu
(4) Canda

Options:
64535044523, 1
6435044524 2

E4E35044525. 3



EAE35044526. 4

Question Number : 57 Question Id : 64635011312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Trhdfd ool STRUTEtTed Jehr: |’

T8 TR 594 HrEl-od 2
(1) zwag
(2) TEH
(3) Aty
(4) =3

Options:

64535044523 1
64535044524, 2
64535044525 5
64535044526, 4

Question Number : 58 Question Id : 64635011313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

This word of Prakrit is used in the Veda.

(1) dhamma
(2) kamma
(3) mnikata

(4) cauranta

Options:
E4E35044527 1

E4E35044525. 2
E4E35044529. 3
64535044530, 4

Question Number : 58 Question Id : 64635011313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

S ST 1 T8 W2 o5 H W Bl 2 |
(1) =g
(2) *m
(3) Frhe
(4) <13

Options:



EAE35044527. 1
64535044528, 2
64535044525, 3
64535044520, 4

Question Number : 59 Question Id : 64635011314 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
This Praknt does pot belong to the first age Prakrit.

(1) Prakrit dhammapada
(2) Pali

(3) Ardhamagadhi

(4) Apabhramsa

Options:

64535044531, 1
64835044532 2
E4E35044533 =2
64535044524, 4

Question Number : 59 Question Id : 64635011314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

I8 TTka q9H T 77 2 |

(1) A 9r9g
(2) wifa

(3) syemmeh
(4) ATvm
Options:

E4535044531. 1
64535044532, 2
64535044533, 3
64535044534, 4

Question Number : 60 Question Id : 64635011315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The word ‘himanahe’ i1s used in this Prakrit

(1) $auraseni drama
(2) maharasni

(3) magadh

(4) apabhramsa



Options:

64535044535, 1
4835044536 2
4535044537 2
64535044528, 4

Question Number : 60 Question Id : 64635011315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

BT’ WeE 1 TA 39 WA § il 8
(1) SR e
(2) R
(3) wwmEh
(4) eAqam

Options:

4835044535 1
4535044536 2
64535044537, o
64535044538, 4

Question Number : 61 Question Id : 64635011316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The word bhastalika belongs to this Prakrit
(1) Paisaci
(2) Culika Pai$aci
(3) Apabhramsa
(4) Magadhi

Options:
64535044559 1

E4E35044540. 2
E4E35044541. 3
64535044547, 4

Question Number : 61 Question Id : 64635011316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



TR 9152 38 TTHd 1 2
(1) gt

2) e TR

(3) 9uw
(4) et

Options:

64535044539, 1
64835044540 2
4535044541 =2
64535044542, 4

Question Number : 62 Question Id : 64635011317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The word ‘ahakkhaya’ belongs to this Prakrit
(1) magadhi
(2) maharastri
(3) ardhamagadhi
(4) Sauraseni

Options:

64535044543 1
64835044544 2
64535044545 5
64535044546, 4

Question Number : 62 Question Id : 64635011317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘ST II%g 39 T W 2
(1) o

(2) HAEAE
(3) sdnmE

(4) s

Options:

64535044543 1
E4E35044544 2
64535044545 5
64535044546, 4

Question Number : 63 Question Id : 64635011318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
The changed form of the word raja in paisaci prakrit is

(1) raca
(2) raya
(3) raa
(4) raka
Options:

64535044547, 1
64535044548, 2
64535044549, 3
64535044550, 4

Question Number : 63 Question Id : 64635011318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tom=ht WTFa § TS 9eg 1 gitafda ¥ 98 2
(1) T=n
(2) T
(3) T
(4) T

Options:

64535044547, 1
64535044548 2
64835044549 =2
64535044550, 4

Question Number : 64 Question Id : 64635011319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

This is the language dominated by “u’
(1) Sauraseni

(2) apabhramsa

(3) magadhi
(4) ardhamagadhi
Options:

64535044551, 1
64535044552, 2
64535044552, 3
E4E35044554. 4



Question Number : 64 Question Id : 64635011319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

38w H IR ) wger I 2
(1) s

(2) 3HS
(3) wmmEh
(4) rEmm

Options:

64535044551 1
64535044552, 2
64535044552 5
64535044554 4

Question Number : 65 Question Id : 64635011320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The changed form of the word ‘vasati’ in maharastri Prakrit is

(1) wasahi

(2) wasasi
(3) wvasad
(4) wasadi

Options:

64535044555,
64835044556,
E4E35044557,
64535044558,

o IR

Question Number : 65 Question Id : 64635011320 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TERTSE STehA H ‘qfa’ Seg @1 uftafda w9 2
(1) =@
(2) =&t
(3) et
(4) T

Options:

4635044555, 1
64535044556, 2
64535044557 =



E4535044558. 4

Question Number : 66 Question Id : 64635011321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The changed form of the word grisma in maharastri Prakrit is

(1) girisama
(2) gimha
(3) gisama
(4) gimha
Options:

64535044559, 1
E4E35044560. 2
E4E35044561. 3
EAE35044562. 4

Question Number : 66 Question Id : 64635011321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

eIl A 1 e weg 1 aiafaa F9 2
(1) e
(2) tirg
(3) TiEm
(4) firzg
Options:

64535044555, 1
64535044560, 2
64535044561, 3
E4E35044562. 4

Question Number : 67 Question Id : 64635011322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The absolutive suffix cca is used in this prakrit

(1) ardhamagadhi
(2) Sauraseni

(3) paisaa

(4) maharasmi

Options:
64635044563, 1
64535044564 2



E4535044565. 3
64535044566, 4

Question Number : 67 Question Id : 64635011322 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
qeehIfoTeh FEra & Tead = 1 TEM W WA 1 B 2
(1) e
(2) A
(3) o=t
(4) WG

Options:

64535044563, 1
64535044564 2
64535044565 =
64535044566, 4

Question Number : 68 Question Id : 64635011323 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
This statement is wrong

(1) rachanges to lain magadhi
(2) 5aisused in maharast
(3) bha changes to fa in paiSaci

(4) tachanges to da in Saurasenm

Options:

64635044567, 1
64535044568, 2
64535044569 =
4835044570, 4

Question Number : 68 Question Id : 64635011323 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Tg HYF T 2

(1) Tt 0T F A B2

(2) WS WIhd H S 1 FA ET 8
(3) TR WA H o 1 E Fa R |
(4) i@ Jrhd H | 13 Fa1 2 |

Options:



E4E35044567. 1
64535044568, 2
64535044565, 3
64535044570, 4

Question Number : 69 Question Id : 64635011324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The last recension of the Ardhamagadhi canons was held at

(1) Mathura
(2) Pataliputra

(3) Vaisali
(4) Valabhi
Options:

E4E35044571. 1
EAE35044572. 2
E4535044573. 3
64535044574, 4

Question Number : 69 Question Id : 64635011324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
sefrely ST <y sfom are 7R g8 ooft
(1) =YQ

(2) UEfaqA
(3) <a=med

(4) T+

Options:

64635044571, 1
64535044572 2
64535044573 =
64835044574 4

Question Number : 70 Question Id : 64635011325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The other name of the Kasayapahuda is
(1) pejjadosapahuda
(2) jonipahuda
(3) damsanapahuda
(4) kammapahuda

Options:

4635044575, 1
64535044576, 2
64535044577 =
64535044575, 4

Question Number : 70 Question Id : 64635011325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FHHE TES H AR TM 3

(1) YSEEIES
(2) SHfoTES
(3) zHwT WTES
(4) M IEs

Options:

64535044575, 1
64535044576, 2
64535044577, 2
E4E35044578. 4

Question Number : 71 Question Id : 64635011326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The author of the Samayasara is
(1) Bhadrabahu
(2) Yaovrsabha
(3) Sayyambhavasiiri
(4) Kundakundacarya

Options:
E4E35044579 1

E4E35044580. 2
E4E35044581. 3
64535044582, 4



Question Number : 71 Question Id : 64635011326 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HOTER F Al 2

(1) stgEg
(2) fagea

(3) wEAva FR

(4) FeFeEH

Options:
4535044579, 1

E4E35044580. 2
64535044581, 3
64535044582, 4

Question Number : 72 Question Id : 64635011327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The subject matter of the tloyapannata is

(1) jiva-ajiva

(2) seven matters

(3) mediratdon

(4) nature of three worlds

Options:

64835044583, 1
E4E35044584 2
64535044585, o
645350445586, 4

Question Number : 72 Question Id : 64635011327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt @ avd fawe 2
(1) Sia-sritE
(2) @@
(3) &=
(4) @ o w1 E@EY

Options:
64535044553 1

E4E35044584. 2
E4535044585. 3



EAE35044586. 4

Question Number : 73 Question Id : 64635011328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
This is a commentary by Jinadasagani

(1) Avasyaka ciirni
(2) Niryukd

(3) Acaranga tika
(4) Sukhabodha dka

Options:

64535044587, 1
64535044588, 2
64835044589 =2
64535044590, 4

Question Number : 73 Question Id : 64635011328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

77 forgramfn %d =zren 2
(1) sraT o7

(2) TEfE

(3) =T de
(4) TEEE S

Options:

64535044587, 1
64835044588 2
4535044589 =2
64535044590, 4

Question Number : 74 Question Id : 64635011329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
He is called Navangi tkakara

(1) Abhayadevasuri
(2) Haribhadrasun
(3) Malayagin

(4) Nemicandra

Options:
64535044591, 1
64535044592 2



E45350445393. 3
64535044554, 4

Question Number : 74 Question Id : 64635011329 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I T SR 3

(1) snEeEg git

) =g g

(3) weImi

@ HfFrg

Options:
64535044591 1

E4E350445382. 2
E45350445393. 3
E45350445594. 4

Question Number : 75 Question Id : 64635011330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Read Unit I and Unit II for correct match of Sauraseni canon :

I II
(a) bhagavan stitra (i) pravacanasara
(b) nandisumra (1) wvajjalagga
(c) satkhandagama (ii1) upasakadasangasutra
(d) avasyakasutra (iv) prasnavyakarana

Select the correct option from the following :

Code ;
(1) () + @)

(2) (a) + (v)
(3) (b) + (i)
4 (@) + Gi)

Options:

£4E835044595. 1
4535044596 2
64535044597, o
64535044598, 4

Question Number : 75 Question Id : 64635011330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



gTs [ o1 3618 11 1 i@ o & 92 fiem & fow afgn

| 11
(a) et g3 (i) TE=TER
(b) T (i) awstam
(c) weEusTH (iif) ITTHHEITEA
(d) sEvaRgA (iv) TETeATR0
frafafiga fawed 8 7 =&t fawen 9w |
e

1) @+@

2) (a) + Gv)
(3) (b) + (iii)
4 (d + (i)

Options:

64535044595, 1
64535044596, 2
64535044597 =
64835044598 4

Question Number : 76 Question Id : 64635011331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The authantic collection of selected verses from Prakrit canonical literature
in modern age is

(1) nirgrantha pravacana

(2) arhat vacana
(3) samanasuttam

(4) garhasankalana
Options:

645350445939 1
E4525044600, 2
E4525044601. =
64535044602 4

Question Number : 76 Question Id : 64635011331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



sngfres N | Wkd AT Wi # =@ia mensti % Hehel &1 AHIURE HUE
T 2

(1) fi=er ge=m
(2) orEd F=
(3) =HUT g

(4) e Heher
Options:
E4E8250445595 1
E4525044600. 2
E4535044601. =
64535044602 4

Question Number : 77 Question Id : 64635011332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The main inspiring source for the collection of the samanasuttam was

(1) Acharya Vinoba Bhave
(2) Kaka Kalelkar

(3) Sukhalal Sanghavi

(4) Acharya Nanesh

Options:

64535044603, 1
64535044504, 2
64835044805 2
4535044606, 4

Question Number : 77 Question Id : 64635011332 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AU 6 Hebeld H W@ 0T 4
(1) SI= fomE 9d
(2) HTHT FHATH

(3) HEa qUEl
(4) A=W T

Options:
4525044802 1

E4E35044604, 2
64535044605, 3
64535044806, 4



Question Number : 78 Question Id : 64635011333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Pravarasena has composed this text.

(1) gaudavaho
(2) serubandha
(3) hlavaikaha

(4) paumacariyam
Options:

64535044607, 1
64535044608, 2
64535044609, 2
64535044610, 4

Question Number : 78 Question Id : 64635011333 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A T8 w o 2
(1) TIsFal

(2) HawH
(3) dlicEs®a
(4) T3IU=E

Options:

64835044607, 1
4535044808, 2
64535044609, o
64535044610 4

Question Number : 79 Question Id : 64635011334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Lilavaikaha is the work of this type
(1) mahakavya
(2) khandakavya
(3) caritakavya
(4) mukrakakavya

Options:

64635044611, 1
4535044812, 2
64535044613 5
64535044614, 4



Question Number : 79 Question Id : 64635011334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

reas®a 39 faan 6 = 2

(4) Thehehls
Options:
645350446111
64535044612 2
64535044613, 3
64535044614, 4

Question Number : 80 Question Id : 64635011335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
This is the work composed by Ramapanivada.

(1) kamsavaho
(2) ravanavaho
(3) bhrngasandesa
(4) hamsa sandesa

Options:

64535044615, 1
64535044516, 2
64835044817, 2
64535044615, 4

Question Number : 80 Question Id : 64635011335 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

THTTETE, g1 W= e U7 2
(1) ezl
(2) TAvEE
(3) TEES
(4) FTWET

Options:
64835044615, 1
64535044616, 2

E4E35044617. 3



E4E35044615. 4

Question Number : 81 Question Id : 64635011336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The origin of the plot of kamsavaho is

(1) Bhagavad gita
(2) Ramayana
(3) Srimad bhagavata

(4) Paumacariyam
Options:

4535044519 1
64535044620, 2
64535044621, o
64535044522, 4

Question Number : 81 Question Id : 64635011336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“TEas! & FAT F g FA 2
(1) g tian
(2) TR
(3) Hivg 9rEd
(4) w3In =E
Options:

64535044619, 1
E4E35044620. 2
E4E35044821. 3
GAE35044822. 4

Question Number : 82 Question Id : 64635011337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The author of the surasundaricariyam is

(1) Dhanesvarasiri
(2) Mahesvarasari
(3) Haribhadrasiiri
(4) Vimalasuri

Options:
4535044623, 1
64535044624 2



E4E35044625. 3
GAE35044826. 4

Question Number : 82 Question Id : 64635011337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Tt & TR 2
(1) g gt
(2) Weval g

(3) wforg git
(4) Taue git

Options:

64535044623, 1
4835044824 2
64535044625, 5
64535044626, 4

Question Number : 83 Question Id : 64635011338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Kumaravalacariyam is the poetry of this kind

(1) narraove
(2) dvyasraya
(3) drama

(4) campu

Options:

4835044627,
4635044625,
4535044629,
64535044630,

[ N

Question Number : 83 Question Id : 64635011338 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
PTG 30 TR F1 ST Hg1 A1 2

(1) e
(2) Iz
(3) =E®
(4) =g

Options:
E4e25044827. 1



E4E35044625. 2
645350446825, 3
64535044630, 4

Question Number : 84 Question Id : 64635011339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The author of the nammayasundarikaha is
(1) uddyotanastri
(2) mahendrasun
(3) jinadattasuri

(4) dhanesSvarasun

Options:

64535044631, 1
4835044832 2
4535044833 2
64535044624, 4

Question Number : 84 Question Id : 64635011339 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
TR % W@ 2

(1) JeraER

(2) wEZER

(3) femER

(4) o-vamgit

Options:

4535044631, 1
64535044632 2
64535044633 =
64535044534 4

Question Number : 85 Question Id : 64635011340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘daksinya cihna’ is adjective of this poet

(1) Devendrasuri
(2) Nemicandrasun
(3) Uddyotanasun
(4) Haribhadrasun

Options:



E4535044635. 1
64535044636, 2
64535044637, 3
64535044638, 4

Question Number : 85 Question Id : 64635011340 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ateqvr o7 39 g &1 faswor 2 .

(1) <a=zgR

(2) iR

(3) AR

(4) FhoEER

Options:

64535044635, 1
4535044836, 2
64535044637, o
64535044635, 4

Question Number : 86 Question Id : 64635011341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The main characters of the kuvalayamala are the symbols of this

(1) naya

(2) lesya

(3) kasaya

(4) padartha
Options:

E4E35044639. 1
E4E35044640. 2
64535044641, 3
64535044642, 4

Question Number : 86 Question Id : 64635011341 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



FAATIIATRRE F T T 36 Tt 2
(1) T
(2) wwm
(3) =8
4) ud

Options:

64835044639, 1
4535044840, 2
64535044641, o
645350446472 4

Question Number : 87 Question Id : 64635011342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
This poet has collected the verses in the gahasattasai.

(1) Satavahana hala
(2) Jayavallabha

(3) Municandra

(4) Hemacandra

Options:

64535044643, 1
64535044544 2
64835044845 2
4535044846, 4

Question Number : 87 Question Id : 64635011342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TreTEmEs § menedi #1 Heher 39w T e 2
(1) wiadars g
(2) <EdcdH

(3) =g
(4) T

Options:

4835044643, 1
4535044844 2
64535044645 5
64535044646, 4



Question Number : 88 Question Id : 64635011343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The popular sense of the “vajja’ in the vajjalaggam is

(1) asvasa

(2) sarga

(3) yugma
(4) paddhan
Options:

64535044647, 1
64535044645, 2
64535044649, 3
E4E35044650. 4

Question Number : 88 Question Id : 64635011343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Feotram’ § G’ 3eg ol =ford a1 2
(1) eArwamE
(2) =

(3) 3m
(4) wgld

Options:

64535044647, 1
64535044548, 2
4835044549 =2
4535044850 4

Question Number : 89 Question Id : 64635011344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Identify the correct statement

(1) The author of the lilavaikaha is Pravarasena.
(2) Setubandha is the composition of Vakpatiraja.
(3) The composer of the kamsavaho is Kotihala.

(4) Kumaravalacariyam is the creative work of Hemacandra.

Options:
64535044651 1

E4E35044652. 2
E4535044653. 3
E4535044654. 4



Question Number : 89 Question Id : 64635011344 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T2 Ho Fi TEAH FHiforg
(1) dficEssa & =i 5aum 2 |
(2) HAEY AT =R
(3) HHER % WAl FFed Hid 2 |
(4) FHRECENE =g 6 =R |

Options:

64835044651, 1
4535044852 2
64535044652 o
64535044654 4

Question Number : 90 Question Id : 64635011345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Idenafy the correct pair.
(1) Kouhala —  Jambucariyam
(2) Ramapanivada —  Usaniruddha
(3) Ghanasyama —  Mahaviracariyam
(4) Pravarasena —~  Gaudavaho

Options:

4835044655, 1
4535044856, 2
64535044657, o
64535044658, 4

Question Number : 90 Question Id : 64635011345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

HE SIS 9FIE
(1) wiFga - SgEiE
(2) THuTfeTaTe - FEIEg

(3) = wEm - TREREE
(4) wawr - TSEEE
Options:

64535044655, 1
64535044856, 2



E4E35044657. 3
64535044658, 4

Question Number : 91 Question Id : 64635011346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The dramatist ASvaghosa has used Prakrit in this drama.

(1) abhijnanasakuntalam
(2) mudraraksasa
(3) uttararamacaritam

(4) sariputraprakarana
Options:

64635044659, 1
64635044660, 2
64635044661, 3
64635044662, 4

Question Number : 91 Question Id : 64635011346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TIEHHR STTUN - 0 T1H H Tha 1 T4m 71 2
(1) sfiEeeTEam

(2) TgrmEE
(3) ITUH=ERAE

(4) g

Options:

64535044659, 1
64535044660, 2
E4E35044861. 2
4535044862, 4

Question Number : 92 Question Id : 64635011347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Nayacandra Muni belongs to this century

(1) 14th
(2) 13th
(3) 17th
(4) 16th
Options:

E4E25044EE3 1



EdE35044664. 2
64535044865, 3
64535044866, 4

Question Number : 92 Question Id : 64635011347 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TG g 39 |21 i @
(1) 14&
(2) 134
(3) 17d
(4) 164
Options:

E4E350446E63. 1
E4E35044664. 2
64535044865, 3
64535044666, 4

Question Number : 93 Question Id : 64635011348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
This i1s the language of the verses used by the female characters in the
abhijiana Sakuntalam
(1) paisaci
(2) magadh
(3) maharastn

(4) Sauraseni
Options:
64635044667, 1
64635044668, 2
64635044669, 3
£4635044670. 4

Question Number : 93 Question Id : 64635011348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



aAfirseE-aem 1 TR I g ygw v 6o 2

(1) Yomr=h
(2) w\wE

(3) TRWA
(4) wiE

Options:

64635044667, 1
64535044668, 2
64535044569 o
4835044870, 4

Question Number : 94 Question Id : 64635011349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
This is the base of the nomenclature of the sattaka.

(1) Heroine

(2) Hero

(3) Nano

(4) Ced
Options:

64535044671, 1
64535044672, 2
E4E35044673. 3
E4E3504467 4. 4

Question Number : 94 Question Id : 64635011349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
HEH o . W1 1 AN T2 2
(1) =R
(2) T™F=H
(3) =&
4) =&

Options:

64535044671, 1
64535044672 2
64535044573 2
4535044874 4



Question Number : 95 Question Id : 64635011350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
This is the creative work of Rudradasa

(1) anandasundan
(2) candaleha

(3) rambhamanjarl
(4) karpuramanjari

Options:

46350446875, 1
64535044676, 2
64535044677, o
64535044575, 4

Question Number : 95 Question Id : 64635011350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

%gerd il 98 =1 2

(1) gl
(2) =EaE

(3) T
(4) FYTrd
Options:

64535044675, 1
64535044676, 2
E4E35044677. 3
E4E35044678. 4

Question Number : 96 Question Id : 64635011351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
This statement is fncorrect.

(1) sattakais divided into javanika.

(2) the hero of the sattaka is not dhiralalita.

(3) $auraseni Prakrit is used in the sattaka.

(4) sattaka is named according to the name of heroine,

Options:
64635044679, 1
64535044680, 2

64535044881, 3



EAE35044652. 4

Question Number : 96 Question Id : 64635011351 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
7 U g T 2
(1) #gs Fatrw 4 foanfom g 2 |
(2) ®gH & TS datad T8l 21 2 |
(3) W H WG TThA 1 A FA R |
(4) WEF H T TR F TH F TTER FAT R |

Options:
4535044579 1

E4E35044680. 2
E4E35044681. 3
64535044882, 4

Question Number : 97 Question Id : 64635011352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Priyadasina rana lekhapita’ this sentence is found in the inscription

(1) Nasika

(2) Kakkuka

(3) Giranara

(4) Hathigumpha

Options:

64535044683, 1
64535044584, 2
64835044885 2
45350448586, 4

Question Number : 97 Question Id : 64635011352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Trrefa w=n omErfyar 1
78 9199 78 fieie § 39asy 2
(1) =

(2) wHFHh
(3) fm

(4) wdmE

Options:



E4E35044683. 1
645350446884, 2
64535044885, 3
64535044656, 4

Question Number : 98 Question Id : 64635011353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The inscribing period of the Giranara inscriptions is

(1) 200 B.C.

(2) 269 B.C.

(3) 100 B.C.

(4) 150 B.C.
Options:

64535044657, 1
645350446588, 2
E4E35044859. 3
E4535044630. 4

Question Number : 98 Question Id : 64635011353 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

R Frermerg! &1 IchvE &1 2
(1) $.9. 200
(2) 3.9, 269
(3) 2.9 100
(4) 2.4, 150

Options:

4535044687, 1
64535044655, 2
64535044689, o
64535044690, 4

Question Number : 99 Question Id : 64635011354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The word ‘cikicha’ of the Giranara inscription is related to :
(1) cilvara
(2) garmant
(3) shouting
(4) medicinal treatment

Options:

64535044691, 1
64535044592 2
64835044592 2
64535044694, 4

Question Number : 99 Question Id : 64635011354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
i sfiree o 9y ‘Es’ 12 398 arafaa 2
(1) ==t
(2) =a=A
(3) =fiehR
4) TmtEE

Options:

64535044691, 1
64535044592 2
64835044592 2
64535044694, 4

Question Number : 100 Question Id : 64635011355 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

The inital sentence of the Hathigumpha inscription is
(1) namo savvasahtinam
(2) jayadu suda devada
(3) namo arahatana

(4) namotthu

Options:

64535044695, 1
E4E35044896, 2
4535044897 2
64535044695, 4



Question Number : 100 Question Id : 64635011355 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Fft T SAfErE w1 R F A 2

(1) v HeaETEs
(2) 7 g5 aa
(3) I @A™
(4) ey

Options:

64535044695, 1
64535044696, 2
64535044597, 2
4535044898, 4

Question Number : 101 Question Id : 64635011356 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Kharavela, the emperor, played ‘kumarakida’ upto this age

PLy L¥
(23 12
(3) 15
(4) 16
Options:

E45350446593. 1
64535044700, 2
64535044701, 3
64535044702, 4

Question Number : 101 Question Id : 64635011356 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AU @A 4 3a- a81 6l 7 a6 FAGHIST i

1) 17
2) 12
(3) 15
4) 16
Options:

645350446595, 1
64535044700, 2



E4535044701. 3
64535044702, 4

Question Number : 102 Question Id : 64635011357 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The emperor Kharavela recreated his people with this amount of money

(1) 35 thousand

(2) 35lakh

(3) 35 hundred
(4) 25 lakh
Options:

64535044703, 1
E4E35044704, 2
E4535044705. 3
64535044706, 4

Question Number : 102 Question Id : 64635011357 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ARG  TER AU RIS - AT TS 361 qgIeA] § AT =R
(1) 35 %R

(2) 359@
(3) 35@
(4) 259M@
Options:

64535044703, 1
E4E35044704, 2
E4535044705. 3
64535044706, 4

Question Number : 103 Question Id : 64635011358 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Read the Unit I and Unit II for correct match :

I II
(a) rana (i) karapanahi
(b) milani ca (ii) maharajena
(c) erena (11) lekhapita
(d) usava samaja (iv) phalani ca

Select the right answer :
Code :
(1) (a) + (ii)

2) )+
(3) (o) + (i)

4) (d)+ Gv)

Options:

64535044707, 1
64535044708, 2
4835044709 2
4535044710, 4

Question Number : 103 Question Id : 64635011358 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

YW Te TEe arfereriet i e & fou afsy
=it 1 Tt 11
(a) T=T () FREE
(b) gemt+ = (i) mrEmeH
(c) w3 (iii) ST
(d) F&a-TAT (iv) Fer =
HT{T 3L ﬁ'ﬁ'ﬁ: :
e
(1) (a) + i)
2) ) + @)

(3) () + (i)
4) (d)+ Gv)

Options:

64535044707, 1
64535044708, 2
4835044709 2



E4E35044710. 4

Question Number : 104 Question Id : 64635011359 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
This has been saluted in the beginning of Kakkuka inscription.

(1) Siva

(2) Jinanatha
(3) Vispu
(4) Brahma
Options:

E4535044711. 1
64535044712 2
64535044713, 3
64535044714, 4

Question Number : 104 Question Id : 64635011359 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FFpek AT & AT | g7hl 707 R T 2

(1) fim

(2) g
(3) famo

(4) w=n

Options:

E4535044711. 1
64535044712 2
64535044713, 3
64535044714, 4

Question Number : 105 Question Id : 64635011360 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the unit I and II for correct match :

UnitI Unit II
(a) Vratta jati-Samuccaya (i) Svayambhu
(b) Chanda - kosa (ii) Nanditadhya
(¢) Gathalaksana (iii) Virahafika

(d) Svayambhii-chanda (iv) Ramasekharsuri
Select the correct option from the following :
Code :

(1) (a-@G), (b)-Gi), (c)-Gv), (d)-Gi)
2) (@-@i), (b)-@), ()-Gil), (d)-(v)
@) (@-Gi), b)-Gv), (©)-3G), (d-0)
(4) @-Gv), (b)-@d), (-0, (d)-(ii)

Options:

64535044715, 1
4835044716 2
4535044717, 2
64535044713, 4

Question Number : 105 Question Id : 64635011360 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tl e & e wom ud fgdi arferemat =t iy -

arferant | atferent 11

(a) FASITET=E (i) @y

(b) T=Hm (i) HEaTes
(c) MeTeTam (iii) faver

(d) w29 T (iv) TEEmE
frafafaa fawed & o 2 famer 9T
e

(D) (@-3G), b)-Gi), (©-Gv), (d)-G
(2) (@-Gi), (b)-G), (e)-Gi), (d)-Gv)
(3) (@-(iD, ®)-Gv), (e)-G), (d-@
(4) (@-@Gv), (b)-@i), (c)-(), (d)-(iii)

Options:
64535044715, 1
64535044716, 2

64535044717, 3



E4E35044715. 4

Question Number : 106 Question Id : 64635011361 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The author of the dictionary named paiyalacchinamamala is

(1) Dhananjaya

(2) Panditaraja

(3) Dandi
(4) Dhanapala
Options:

E4E35044713. 1
B4E35044720. 2
64535044721, 3
64535044722, 4

Question Number : 106 Question Id : 64635011361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TETT=S! THATE ISR & =l 2

(1) T~
(2) ufegars
(3) =W

(4) =9
Options:

E4E350447139. 1
64535044720, 2
64535044721, 3
64535044722, 4

Question Number : 107 Question Id : 64635011362 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The author of the vrttajatisamuccaya is

(1) Rajasekhara
(2) Virahanka
(3) Dhananjaya
(4) Hemacandra

Options:
64535044723, 1
E4E35044724 2



E4E35044725. 3
64535044726, 4

Question Number : 107 Question Id : 64635011362 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FAAMAHT=E o Tl 1 T 2

(1) TSEEL
(2) T

(3) "I9=

(4) B=Eg
Options:
4635044723, 1
64535044724 2
64535044725 =
64535044726, 4

Question Number : 108 Question Id : 64635011363 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The abundant material of marthematies is found in this Prakrit text.

(1) ganitasara

(2) bhagavat aradhana
(3) dloyapannartti

(4) dravyasangraha

Options:

64535044727, 1
E4E35044728. 2
64535044729, 5
64535044720, 4

Question Number : 108 Question Id : 64635011363 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt =t fager arnht e & 58 T i Svered @
(1) TR
(2) wTEdl ATTE
(3) Tactraquor
(4) FeEmR

Options:
64535044727 1



EAE35044728. 2
64535044725, 3
64535044730, 4

Question Number : 109 Question 1d : 64635011364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The Prakrit grammatical text written by canda is

(1) Siddhahemasabdanus$asana
(2) Prakrta laksana

(3) Prakrta sarvasva

(4) Prakrta prakasa

Options:
64535044731 1

E4E35044732. 2
E4E35044733. 3
EAE35044734. 4

Question Number : 109 Question Id : 64635011364 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

=US TR Fid WThd STERLUT 6 U7 2
(1) TogeAvearme
(2) STEhdaAa
(3) WThaHatE
(4) TTEhAIhE

Options:

648350447311
4535044732 2
64535044733 5
64535044724 4

Question Number : 110 Question Id : 64635011365 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The book ‘Prakrtasabdanusasana’ is written by

(1) Markandaya
(2) Laxmidhara
(3) Simharaja

(4) Trivikrama

Options:



E4535044735. 1
64535044736, 2
64535044737, 3
64535044738, 4

Question Number : 110 Question Id : 64635011365 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
STHASTEGTLATE U= & AR 2

(1) WSy
(2) g
3) e
(4) fafasem

Options:

64535044735, 1
64535044736, 2
64535044737 2
4835044738 4

Question Number : 111 Question Id : 64635011366 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The main text of the Apabhramsa prosody is

(1) svayambhi chandah
(2) chandah kosa

(3) kavidarpana
(4) gahalakkhana

Options:

4635044739, 1
64535044740, 2
64535044741 =
64535044742 4

Question Number : 111 Question Id : 64635011366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ATHT TGl H TIE T+ 2
(1) = o
(2) TEHM
(3) ehfergdur
(4) METEFEM



Options:

64535044739, 1
4835044740, 2
4535044741 =2
64535044742, 4

Question Number : 112 Question Id : 64635011367 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The total number of the matra of gaha chandah in Prakrit.

(1) 54
(2) 57
(3) 66
(4) 70
Options

64535044743 1
64535044744, 2
64535044745 3
E4E3504474E, 4

Question Number : 112 Question Id : 64635011367 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TFATETSE § TG Fol A & 2
(1) 54
(Z) 57
(3) 66
4) 70

Options:

64535044743, 1
64535044744 2
64535044745 =
645350447465, 4

Question Number : 113 Question 1d : 64635011368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The total number of the matra of uggaha in Prakrit is

(1) 28
(2) 30
(3) 45
(4) 60
Options:

645350447471
64535044748, 2
64535044749, 3
E4E35044750. 4

Question Number : 113 Question Id : 64635011368 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

IR WTRA BE H WY FA O 2
(1) 28
(2) 30
(3) 45
(4) 60

Options:

4535044747, 1
64535044748, 2
645350447493 2
E4E35044750. 4

Question Number : 114 Question Id : 64635011369 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Pingala, the total number of the matra in equal two liner
ghatta chandah of Apabhramsa is

1) 22
2) 20
(3) 30
4) 31
Options:

64535044751, 1
64535044752 2
E4E35044753. 3
E4535044754. 4



Question Number : 114 Question Id : 64635011369 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ST FAGYE! O Beg H 9T & SER 391 A gl 2

(1) 22
(2) 20
(3) 30
4) 31
Options:

64535044751, 1
E4E35044752. 2
E4535044753. 3
64535044754, 4

Question Number : 115 Question Id : 64635011370 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

The sama matrika sama catuspadi Apabhramsa metre of 16 matras is called

(1) pajjhadia

(2) ghatta
(3) uggaha
(4) duval
Options:

64535044755, 1
E4E35044756. 2
E4E35044757. 3
64535044758, 4

Question Number : 115 Question Id : 64635011370 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HIcTg AT 6 FHATEE 1 SqOE S9N 95 F T8 FE 9 2

(1) w=zfsen
(2) ==
(3) 3Imm&ET
“4) T
Options:

E4535044755. 1
64535044756, 2
64535044757, 3



E4535044758. 4

Question Number : 116 Question Id : 64635011371 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

This vowel is not used in Prakrit language

(1) i
(2}
(3) 1
(4) o

Options:

E4535044759. 1
64535044760, 2
64535044761, 3
64535044762, 4

Question Number : 116 Question Id : 64635011371 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
77 T VA A9 H 9GE T4 B 2 |
1) 3
(2) =R

Options:
64535044759 1

E4E35044760. 2
E4E35044761. 3
64535044762, 4

Question Number : 117 Question Id : 64635011372 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The gender of the word ‘jasa’ of Prakrit language is
(1) Neuter gender
(2) Masculine gender
(3) Feminine gender

(4) Common gender

Options:
64535044763, 1
64535044764 2



E4535044765. 3
64535044766, 4

Question Number : 117 Question Id : 64635011372 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
A 9T H S e @ g 2
(1) TgEeRfam

(2) gfem
(3) whfam

(4) Imafam

Options:

4535044753 1
64535044764, 2
64535044765 o
64535044766, 4

Question Number : 118 Question Id : 64635011373 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The suffix of masculine ablative singular for pronouns is

(1) mmi
(2) mha
(3) o
(4 e
Options:

64535044767, 1
64535044768, 2
64535044769, 3
EAE35044770. 4

Question Number : 118 Question Id : 64635011373 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
T giem Tert wshasn & o ae 2
(1) fm
(2) T
(3) e
4 T

Options:



EAE35044767. 1
64535044768, 2
64535044765, 3
64535044770, 4

Question Number : 119 Question Id : 64635011374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The genitive case in Prakrit is used for this case

(1) accusative case
(2) instumental case
(3) danve case

(4) abladve case

Options:
4535044771 1

EAE35044772. 2
E4E35044773. 3
64535044774, 4

Question Number : 119 Question Id : 64635011374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

i 1w fafee 5| e & fore v et 2
(1) <FHFRF
(2) FOTHEH

(3) WHrUEH S

(4) 319G HE
Options:
64535044771 1
E4E25044772 2
E4E25044773 3
64535044774 4

Question Number : 120 Question Id : 64635011375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



This word is not the illusoraton of ‘ya’ srud.

(1) wvayana

(2) laya
(3) paoga
(4) bhaniya
Options:

64535044775 1
64535044776, 2
EAE35044777. 3
EAE35044778. 4

Question Number : 120 Question Id : 64635011375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

72 W= T’ yfa w1 g T 2
(1) =M

(2) @@=
(3) gTm
(4) st

Options:

64535044775, 1
4835044776 2
64535044777, 5
64535044778, 4

Question Number : 121 Question Id : 64635011376 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The word ‘icthi’ illustrates

(1) prothesis
(2) anaptyxix

(3) metathesis

(4) dissimilation
Options:
64635044779, 1
64635044780, 2
64635044781, 3
64635044782, 4

Question Number : 121 Question Id : 64635011376 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Feoft’ TTe2 ST 3ETE 2
(1) emieETm™

(2) HERFUT
(3) T
(4) Tt

Options:

4635044779, 1
64535044780, 2
64535044781, =
64535044752 4

Question Number : 122 Question 1d : 64635011377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Phaliha’ is the illustraton of

(1) elision

(2) aspiration

(3) metathesis

(4) assimilation

Options:

64535044753, 1
4835044734 2
4535044785 =2
64535044756, 4

Question Number : 122 Question Id : 64635011377 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘g ve2 THE BT 2
(1) @™
(2) FETITOTTRTT
(3) avieTT
(4) =R

Options:

64835044783, 1
64535044754, 2
64535044785, o
64535044756, 4




Question Number : 123 Question Id : 64635011378 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘ha’ is mostly used instead of these medial consonants
(1) kha- gha-tha- dha
(2) ka-ga-ca-ja
(3) ka-kha-ga- gha

(4) ta-tha-da-dha
Options:

64535044757, 1
64535044788, 2
64E35044759. 2
64535044730, 4

Question Number : 123 Question Id : 64635011378 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
T F TN R 3 AeTad] sIel & T W Ml 2
(1) §-9-9-9%
(2 H-T-9-T
(B) $-G-T-¥
4 2-3-T-%

Options:

4835044787, 1
645350447358, 2
64535044789, o
64535044730, 4

Question Number : 124 Question Id : 64635011379 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
This is the illustration of qualitative ablaut.

(1) payada

(2) dahina
(3) kerisa
(4) paniya
Options:

645350447391, 1
E4E35044732. 2
E4E350447393. 3
645350447594, 4



Question Number : 124 Question Id : 64635011379 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

77 WG O, AR 1 35 2 |

(1) T=s
(2) aem
(3) *fm
(4) T
Options:

E4E350447391. 1
EAE35044732. 2
E45350447393. 3
645350447594, 4

Question Number : 125 Question 1d : 64635011380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
This is the illustration of quantitative ablaut.

(1) ahava
(2) erisa
(3) sivina

(4) damsana

Options:

64535044795, 1
64535044736, 2
64835044737 2
64535044795, 4

Question Number : 125 Question Id : 64635011380 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

T2 AT, A9l 6 ISR B
(1) o=a

(2) wEm
(3) Tafam

(4) =zEm

Options:
4535044755, 1
64635044796, 2



E4E35044737. 3
64535044735, 4

Question Number : 126 Question Id : 64635011381 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

This word is an adverb.

(1) devo
(2) siggham
(3) gacchai

(4) kayavvam
Options:
646350447399 1
48325044500, 2
4535044501, 2
64635044502 4

Question Number : 126 Question Id : 64635011381 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T2 92 fopa fersmm 2
(1) &
(2) T
(3) =53
(4) F=d

Options:

64535044799, 1
64535044800, 2
64835044801, 2
4535044802, 4

Question Number : 127 Question Id : 64635011382 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Read the Unit I and Unit II for correct match.

I II
(a) dahisara (1) anaptyxis
(b) varisa (ii) samprasarana
(e) kattha (iii) contraction
(d) nomaliya (iv) assimilation

Select the correct option from the following :
Code :
(1) (a) + Gii)

2) (c) + (i)
3) (@ + )
4 ® + @

Options:
4535044503 1

E4E35044804. 2
E4535044805. 3
64535044806, 4

Question Number : 127 Question Id : 64635011382 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tt firee & e s 1 it g 11 vfex
I 11

(a) ZEH () w@tE

(b) af@ (i) @rsEmT

(¢) #3 (i) =f

(d) Trfern (iv) FrfeRToT

frfafea fawed § 9 w2 fawer g |

e

(1) (@) + (i)
2) (e) + (i)
3) (d + v
4 ® + @)

Options:
64535044503, 1
64535044804, 2

64535044805, 3



E4E35044806. 4

Question Number : 128 Question Id : 64635011383 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“dukkham kirai kavvam kavvammi kae paunjana dukham” This portion of
verse has been quoted from
(1) gahasattasai

(2) samaraiccakaha
(3) wajjalagga
(4) serubandha

Options:
6435044507 1

E4E35044808. 2
E4E35044808. 3
E4535044510. 4

Question Number : 128 Question Id : 64635011383 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
WM R T A I ?
(1) TETHES

(2) WAUE=ER
(3) =S
(4) wHas9
Options:

64535044507, 1
64535044808, 2
E4E35044808. 3
E4E35044810. 4

Question Number : 129 Question Id : 64635011384 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Phurie vamacchi tue jai ehie so pio jai ta suiram. sammeliya dahinaam tui
avi eham paloissam. The word ‘sammiliya’ of this verse denotes
(1) having closed

(2) having seen
(3) having known
(4) having opened



Options:

64535044511, 1
4835044812 2
4535044812 =2
64535044514, 4

Question Number : 129 Question Id : 64635011384 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fitw amfes qu 73 ufes ® feh 5 @ 3R |
writferat araonel g8 ofd 08 T |
39 MW § Y WHifIer 98 w1 @19 2

(1) ==

(2) <@

(3) SR

(4) TR

Options:

64635044511, 1
64835044812 2
64535044512 5
64535044514, 4

Question Number : 130 Question Id : 64635011385 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
e$a nanakamusika kamakasika
The word ‘esa’ of this line is used for
(1) wvasantasena

(2) dhuta

(3) madanika

(4) radanika
Options:

E4535044515. 1
E4E35044816. 2
64535044817, 3
64535044515, 4

Question Number : 130 Question Id : 64635011385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



‘Tt TR 5. e 39 O9fE o ww T ve gees fom 2
(1) FE-aHAT

(2) gm
(3) wef

4 TEhe

Options:

64535044515, 1
64535044816, 2
64535044817, =
64535044515, 4

Question Number : 131 Question 1d : 64635011386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Radanika speaks this Prakrit

(1) sakari

(2) pracya

(3) Saurasemi

(4) dhakki

Options:

64535044519,
64535044520,
64535044521,
4835044522,

[ N Y

Question Number : 131 Question Id : 64635011386 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Ef-ehT 78 TThA el &
(1) T
(2) =
(3)
(4) wFh

Options:

64535044519, 1
64535044820, 2
64835044821, 2
4535044822 4



Question Number : 132 Question Id : 64635011387 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The heroine of the sattaka of Rajasekhara is

(1) Vasantasena

(2) Karpiiramainjari
(3) Kuvalayamala
(4) Vicaksana

Options:

E4E35044523 1
64535044524, 2
64535044825 =
64535044526, 4

Question Number : 132 Question 1d : 64635011387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TSGR & HEF hl TITHI 2
(1) FE-aE
(2) FYTRH
(3) HaaIHATE
(4) fa=eon

Options:

64535044523, 1
E4E35044824 2
64535044525, 5
64535044526, 4

Question Number : 133 Question Id : 64635011388 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
na kassa mana mohanam sasimuhiya hindolayam

This statement has been quoted from
(1) Candaleha

(2) Karpuramanjari
(3) Rambhamafijari
(4) anandasundan

Options:
64535044527, 1
4835044828 2

E4E25044529 3



E4E35044830. 4

Question Number : 133 Question Id : 64635011388 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

01 S TR WA e’ - 78 $UF T WA W Iga 2
(1) ==
(2) wiuEd
(3) TaTS

(4) seg=h

Options:

64535044527, 1
645350445828, 2
4835044829 2
45350448320 4

Question Number : 134 Question Id : 64635011389 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The language of nayakumaracariu 1s
(1) paisaci
(2) apabhramsa

(3) pali
(4) magadhi
Options:

E45350445851. 1
64535044832, 2
64535044833, 3
64535044534, 4

Question Number : 134 Question Id : 64635011389 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

pipeite el v i
(1) Ysmr=h
(2) W
(3) wifa
(4) e

Options:
64535044531, 1



EAE35044832. 2
64535044833, 3
64535044524, 4

Question Number : 135 Question 1d : 64635011390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘dukkham sambhavijjai bandhacchaai ahinava atthagai’ This portion of
verse indicates the difficulty of this work
(1) auspicious gain

(2) love gain
(3) poetic creation

(4) money eaming

Options:

64535044535, 1
64535044836, 2
64535044537 2
48350448328 4

Question Number : 135 Question Id : 64635011390 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘TFE HATfaeorg TrueRTes wfgvEn st
77 v 39 form & i wfemd =i giaa w2

(1) gwrsHE
(2) o

(3) H=EEAT
(4) T

Options:

4835044535 1
4535044836 2
64535044837, o
64535044828, 4

Question Number : 136 Question Id : 64635011391 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The subject matter of samaraiccakaha is

(1) effect of karma

(2) history

(3) spiritualism

(4) worship
Options:

E4535044529. 1
64535044840, 2
64535044841, 3
E453504484%. 4

Question Number : 136 Question Id : 64635011391 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wrUg=El <l fave-aeg 2
(1) =hH-giomy
2) 3foEm

(3) H<OeH
(4) qN-3T=T

Options:

64535044539, 1
64535044540, 2
64535044541, 5
64535044542 4

Question Number : 137 Question Id : 64635011392 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
This has been described in the bhavanasaro

(1) ramakatha

(2) six substances

(3) different aspects of jain religion
(4) life of the ford builders

Options:

64535044543, 1
4835044844 2
E4E35044845 =
64535044546, 4



Question Number : 137 Question Id : 64635011392 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AT 77 | afifd 2
(1) T.em
(2) DEgH
(3) SHgd & fafimemm
(4) defw-aia

Options:

64535044543, 1
64535044544 2
64835044845 =2
4535044846 4

Question Number : 138 Question Id : 64635011393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
‘no hine no airitte no pihae’ This line has been quoted from this chapter of
acarangasuftra.
(1) wuvahana
(2) logavijai
(3) satthaparinna
(4) mahaparinna

Options:

64535044547, 1
64535044548, 2
4835044549 =2
4535044850, 4

Question Number : 138 Question Id : 64635011393 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ot €Ot ot eTeiE ot ey’ — 7z Ui ST HA % 3H e ¥ Igd 2
(1) &g
(2) wmfes
(3) weemitoo
(4) wEafem

Options:
64535044547, 1
64535044548, 2



E4E35044845. 3
64535044850, 4

Question Number : 139 Question Id : 64635011394 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Read the units I and II for correct match.

I II
(a) ayaro (i) avisese vayana vihi
(b) uttarajjayanam (ii) arahante manuse khette
(¢) pavayanasaro (iii) araho logaptio
(d) sammaisuttam (iv) sant pana pudho siya

Select the correct option from the following :
Caode :
(1) (a)-Gv), (b)-(ii), (e)-Gi), (d)-{)

2) (@-3i), (b)-0), ©)-0v), (d)-Gi
@) @-3), (b)-Gv), (-0, (d)-Gid
4) (@-@G), (b)-G), (e)-Gil), (d)-(iv)

Options:

64535044551 1
64535044852, 2
64535044853 =
64535044854 4

Question Number : 139 Question 1d : 64635011394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



w2 e & o em @i fdm arfermet @6t afe |

arfera 1 arferert 11
(a) 2ImaT i) e Tawfafz
(b) Iwt=gRIi (i) TS A TN
(c) TETHT (iii) *TET AgEen
(d) =vmgEa (iv) |faamTyE T
Fr=fafea feedt o @ 7@t fawew I |
T

(1) (@)-Gv), (b)-(GiD), (e)-Gi), (d)-0)
(2) (-G, 0)-0), ()-Gv), (d)-Gi)
3) (@-@G), (b)-Gv), (c)-(), (d)-(ii)
4 (@-@0), (b)-Gi), (e)-Gii), (d)-Gv)

Options:

45350445851,
64535044552,
64535044553,
4835044354,

[ N

Question Number : 140 Question Id : 64635011395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

sammaddamsana-nanam caranam mokkhassa karanam. This part of the
verse has been quoted from

(1) acaranga

(2) dravyasangraha

(3) uttaradhyayanasitra
(4) dasavaikalika

Options:

64535044555 1
64535044856, 2
64535044857, o
64535044858, 4

Question Number : 140 Question Id : 64635011395 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



“FETEEHYI-UT] S W@ ST AT P 48 97 39 T H Iga 2
(1) r=m
(2) U
(3) ITuEmTIEA
(4) ZIawIfcTs

Options:

64535044355, 1
E4E35044856. 2
64535044557, 5
64535044858, 4

Question Number : 141 Question Id : 64635011396 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The non-voilence of six groups of living beings has been prescribed in

(1) setubandha
(2) kamsavaho
(3) dasavaikalika
(4) lilavaikaha

Options:

64535044559, 1
64535044860, 2
4835044861, 2
4535044862, 4

Question Number : 141 Question Id : 64635011396 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o2 wira Freem & famn 7 = == Feéw 58 oy 1 e 2

(1) #Ha==
(2) Hag
(3) EEHIAR
4) dofiemagsa

Options:

64535044559, 1
4835044860, 2
4535044861, 2
64535044562, 4



Question Number : 142 Question Id : 64635011397 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The subject matter of the Uvasakajjhayanam is

(1) wvows for householders
(2) six substances
(3) seven matters

(4) vows for monks

Options:

45350445863, 1
64535044564, 2
64535044865 =
64535044566, 4

Question Number : 142 Question 1d : 64635011397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
FaHEGHI0 - 1 o 2

(1) Teedi & 7

(2) JBTA

(3) W@ a=

(4) =g & od
Options:

E45350445863. 1
64535044864, 2
64535044865, 3
64535044866, 4

Question Number : 143 Question Id : 64635011398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘nanam du savvagayam’ the purport of this part of verse is

(1) knowledge is omnipresent.

(2) soulis knowledge authentication.

(3) knowledge and soul are different.

(4) knowledge and conduct are identical.

Options:

4835044567, 1
64535044568, 2
64535044869, o
64535044870, 4



Question Number : 143 Question Id : 64635011398 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UV g FeaATE — 39 TN H1 AR B
(1) ¥ o7 =01 2 |
(2)  ATEAT T T 2

(3) T & e = 2
(4) FTH IR IEE T

Options:

45350445867, 1
64535044868, 2
64535044569 =
64535044570, 4

Question Number : 144 Question 1d : 64635011399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
This chapter of acaranga prohibits the violence of all kinds of living beings

(1) mahaparinna
(2) uvahana
(3) satthaparinna
(4) logavijai

Options:

64535044571, 1
4835044872 2
4535044873 2
64535044574, 4

Question Number : 144 Question Id : 64635011399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Tfi TR & STl i fEE w1 TRy e g1 w5 98 A w1 2
(1) wgafTom

(2) 3Iagm
(3) weggiwon
(4) emfasE
Options:

E4535044871. 1
64535044872, 2



EAE35044873. 3
64535044874, 4

Question Number : 145 Question Id : 64635011400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The main subject matter of the sammaisuttam is

(1) grammar
(2) naya
(3) embellishment

(4) metre

Options:

64535044575, 1
E4E35044876. 2
E4E35044877. 2
64535044578, 4

Question Number : 145 Question Id : 64635011400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Options:

64635044575, 1
64535044876, 2
64535044877, 2
4835044878 4

Sub-Section Number: 2
Sub-Section 1d: 646350536
Question Shuffling Allowed : Yes

Question Id : 64635011401 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cuestion Label © Comprehension



Read the following passage and answer questions given below.

Tattha bhaniyam thanuna - bho, bho, mitta ! na paremo parisanta
bhikham bhamitnam, ta ajja mandae karaveum aharemo. bhaniyvam ca
mayaiccenam - jai evam ta pavisasu tumam pattanam. aham samujjuo na
yanimo kaya — vikkayam, tumam puna janasi. turiyam ca tae agantavvam.
bhaniyam ca thanuna — evam houn, kim puna rayana-pottadam kaham kirau
td. bhaniyam mayaiccena - ko janai para pattanana thii. ta ma avao ko vi
hohi tti tuha pavitthassa maha cheva samive citthau rayana - kappadam .
tena vi evam bhanamanena samappiyam tam rayanakappadam.
samappitna pavittho pattanam.

Sub questions

Question Number : 146 Question Id : 64635011402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Sthanu advised his friend that they would
(1) sing the song.
(2) go to market.
(3) play football.
(4) eat prepared bread.

Options:

64535044579, 1
64535044880, 2
64535044581, 2
4835044882 4

Question Number : 147 Question Id : 64635011403 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mayaditya told Sthanu

(1) give me garment.
(2) go for begging.
(3) go to the market.
(4) go to sell goods.

Options:

E4E35044553. 1
64535044554, 2
64535044885 o
645350445586, 4

Question Number : 148 Question Id : 64635011404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Sthanu gave Mayaditya
(1) #iee.
(2) books.
(3) bag of jewels.
(4) pots.

Options:

64535044887, 1
64535044888, 2
64535044589 2
E4E35044830. 4

Question Number : 149 Question Id : 64635011405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
This is the Prakrit of this passage
(1) Paisaci
(2) magadhi
(3) apabhramsa

(4) maharastm

Options:

4635044591, 1
64535044892, 2
64535044593 =
64535044594 4

Question Number : 150 Question Id : 64635011406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
This passage is quoted from this text.
(1) Kuvalayamalakaha
(2) Samaraiccakaha
(3) Lilavaikaha
(4) Vasudevahinch

Options:

4635044595, 1
64535044896, 2
64535044897, =
64535044595, 4



Question Id : 64635011401 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension

Tt e 1 afer T e for T TR % I g

T AU AT, o7 T | o I o e i, a1 e Aey $Hes
AR | O = ATEE=0 - 95 U@ @1 9iaey G0 T | 318 weae v
TifoT F-foeepa, g0 QU1 SR | 9 = 9¢ @ATded | 9 = ompen-ud 21S,
T QU1 @1 9 & G f | A

TETE=VT-F1 AU W-ageomet & | a1 m smanstt =i f§ 21z 7 97 idcew uz
a9 wd foees wuees fa | o fq w@ sommmr anfcds 9 eS|
aafors gfaen qeen |

Sub questions

Question Number : 146 Question Id : 64635011402 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T 3 A9 i it 78 "o @ |
(1) i TE |
(2) AR AR |
(3) e we |
(4) U FareR TEm |

Options:

64535044579, 1
64535044880, 2
64535044581, 2
4835044882 4

Question Number : 147 Question Id : 64635011403 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

TR 4 T § 7R
(1) T3+ e |
(2) i@ 7T e |
(3) T SR A |
(4) =WH S= e

Options:
E4E35044553. 1

E4E35044884. 2
E4535044885. 3
64535044856, 4



Question Number : 148 Question Id : 64635011404 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 3 WETEeT Wt T2 5 |

(1) =mEada

(2) Tk
(3) ™ & I

(4) =
Options:
64535044857, 1
64535044888, 2
645350445859, 3
645350448390, 4

Question Number : 149 Question Id : 64635011405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

| T < AR TR R
(1) g
(2) wmh
(3) AW
(4) mEmTe

Options:

4535044591 1
64535044592, 2
64535044892 o
64535044594, 4

Question Number : 150 Question Id : 64635011406 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T T 39 U H I 2
(1) FaATEHTATRR
(2) wAUF=IHEl

(3) ofemas®a
(4) Tgea s

Options:
4525044595 1

E4E350448396. 2
E4535044897. 3



E4E350448395. 4



